AR Y —FRME

H2TAR e WIS ERE P Miliks (AR Y —W400)
MEEEDOMIIBER TH D EBADH Y £ 3

*5 R4 BUAMIKS | ZEP] | AERHEE | e o)

1| 7HEeh RS 923.3 | HTI 12| 11,080

2|8AH GEFD 390.4 | SET 49 19,130

3IHHDOK 670.0 | BEH 6 4,020

4|ENGLISH JOURNAL 1512.0 | HTI 12| 18,144

5|9 icE 802.0 | | 4 3,208

6 LVWEFE/ 2000.0 | FT 4 8,000

7% LR 700.0 | HTI 12 8,400

8|ISF=HYY 967.0 | HTI 12| 11,604

9Ty 500.0 | HTI 12 6,000
10| N H K pA3Li#% 545.0 | HTI 12 6,540
1|NHK % x 5 OfitHE 545.0 | HTI 12 6,540
12INHK ¥ x 5 Okl 545.0 | HTI 12 6,540
13| N H K #nk o 3% 545.0 | HTI 12 6,540
14| N H K $3HE# ) 545.0 | HTI 12 6,540
I5NHK3TXIINV RAAL R 617.0 | HTI 12 7,404
16| )V F 2 1620.0 | B@H 6 9,720
17 3B 5 - < 750.0 | B@H 6 4,500
18| A — ) aeth 985.0 | HTI 12| 11,820
19| FROK 1010.2 | HTI 12 12,122
20 | 24k pu 2060.0 | FTi 4 8,240
21| x¢EPa g — ok Btk — 2780.0 | 4F 2 [ 2 5,560
224k 864.0 | HTI 12| 10,368
23 | % E i} 1200.0 | HTI 12| 14,400
24| BAYHR— b 1200.0 | HTI 12| 14,400
25| BB ¥ —FN 540.0 | HTI 12 6,480
26| &HEH GETD 580.0 | SET 48| 27,840
21| 7 —3a 700.0 | HTI 12 8,400
28707 w9y 427.5 | 219 24| 10,260
29 | BE4 980.0 | HTI 12| 11,760
30 [ I — 1436.0 | FEH 6 8,616
31| HE BIREAR 972.0 | HTI 12| 11,664
32| BN 823.0 | HTI 12 9,876
33| Wiz 7 1337.0 | HTI 12| 16,044
M TEITT 4”7 990.0 | ZFH| 4 3,960
35|a% 680.0 | K@H 6 4,080
36|INTZHFLY A b 695.0 | HTI 12 8,340
NSy H—=F ALV 480.0 | ETI 48| 23,040
38[¥F 4 730.0 | HTI 12 8,760
39| HFHHL 813.3 | HTI 12 9,760
40| J T Bi#I# 1183.0 | HTI 12| 14,196
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41|CDY ¥ —F) 802.0 | HTI 12 9,624
42| OB 916.0 | HTI 12| 10,992
13 BEE 720.0 | HTI 12 8,640
44| AR 1136.8 | HTI 12| 13,642
45 | /NGET 930.0 | HTI 12| 11,160
46 |5 HE B 1296.0 | HTI 12| 15,552
AT B (s 2057.0 | HTI 12| 24,684
48 | % it 980.0 | HTI 12| 11,760
49| WA X T 700.0 | HTI 12 8,400
50[31E% 950.0 | HTI 12| 11,400
S51EE VOB 1250.0 | F&EH 6 7,500
52| % 2417.0 | b@EH 6] 14,502
53 | 1E 780.0 | HTI 12 9,360
54 |fit 5 864.0 | HTI 12| 10,368
55 |55 596.0 | HTI 12 7,152
56| - G4 F 600.0 | HTI 12 7,200
57 |Ji & $ki# 1000.0 | F&EH 6 6,000
58 |Jxi gk 991.7 | HT 12| 11,900
59 |12 864.0 | HTI 12| 10,368
60| AR HY 1500.0 | HTI 12| 18,000
61> F 2 880.0 | HTI 12| 10,560
62| Hhisk 926.0 | T 4 3,704
63[bVEWV e BBEW - kbW Dk |  1296.0 | FEH 6 7,776
64|F ¥ £ R~V Z 1296.0 | HTI 12| 15,552
65 |2y 930.0 | HTI 12| 11,160
6620 A 1010.0 | HTI 12| 12,120
67| KXHA K 815.0 | HTI 12 9,780
68|1F—v 7 1234.0 | HTI 12| 14,808
69|32 N — 570.0 | H 2 1] 24| 13,680
0| HRT¥FAL A b 600.0 | HTI 12 7,200
THREH LT R 1440.0 | HTI 12| 17,280
T2HR LT 1 586.7 | HTI 12 7,040
73| HfR~= R — 716.7 | HTI 12 8,600
4|l=2—p 1200.0 | HTI 12| 14,400
75| g 2592.0 | Z&ETi 4] 10,368
76 | Pk L FRIZE 1105.7 | HTI 12| 13,268
MMO5D5 823.0 | FH| 4 3,292
810 666.7 | HTI 12 8,000
79| Hk4y 953.3 | H T 12| 11,440
80| Ny F T — T B 980.0 | ZFH| 4 3,920
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81 | 4EH%ER 1490.0 | ZF| 4 5,960

82— R— REYRALEa— 2060.0 | AT 12| 24,720

83| DK 545.0 | HFI 12| 6,540

84/ PHP 205.0 | AT 12| 2,460

85| V%R u— Ur—Fi 2052.0 | HTI 12| 24,624

86 | 4 (4 FI) 1892.0 | HFI 12| 22,704

87| 1720.0 | F&AH 6 10,320

88 | fE ki 1049.0 | HTI 12| 12,588

89 |l A2y 572.0 | H 2[al 23| 13,156

90|l A2 K 730.0 | AT 12| 8,760

91| 7527V LY 1206.0 | KA 4 4,824

92| IR 970.0 | AT 12| 11,640

93| GETD 401.6 | ET 50| 20,080

94| IR 886.7 | HTI 12| 10,640

95| R—ZF—)L GHF) 450.0 | ET 50] 22,500

96| Ry —47 550.0 | T 4 2,200

97|y 663.3 | H 2 [l 23| 15,256

98| Ak 745.5 | AT 12| 8,946

9|IRFVIHVY 946.0 | HTI 12| 11,352

100[A> 2257 833.3 | HTI 12| 10,000
1017 690.0 | HTI 12| 8,280
1021 & BE 1080.0 | HTFI 12| 12,960
1039585 728.3 | HFI 12| 8,740
104|294 % 1404.0 | AT 12| 16,848
105/5>F—2= 826.0 | AT 12| 9,912
106/ LAY 938.3 | HTI 12| 11,260
107 | JE s 558 648.0 | HTI 12| 7,776
18[LF4TF 492 860.0 | AT 12| 10,320
109|174y 720.0 | HF 12| 8,640
&it 1093k 1381 | 1,180,054

10958

1,180,054




